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1 A, B, Cand D are points on the circumference of a circle with centre O.

Angle ABD = 81°
Angle BDC = 42°

(a) Work out the size of angle CAB.

+
N

(b) Work out the size of angle ACD.

(c) Work out the size of angle AEB.

(d) Work out the size of angle BEC.

o
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(Total for Question 1 is 4 marks)
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2 A, Band C are points on the circumference of a circle with centre O.

A

~\C
B

Angle ABC = 79°

(a) Work out the size of angle CAB.

| ]

(b) Give a reason for your answer to part (a)

The anale in & semucirele is A0°

Ang\esu Q. hriq.nsl.& ...... add. o \80°

(Total for Question 2 is 2 marks)

3 A Band C are points on the circumference of a circle with centre O.

Angle CAB = 29°

(a) Work out the size of angle COB.

R

(b) Give a reason for your answer to part (a)

(Total for Question 3 is 2 marks)
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4 A, B, Cand D are points on the circumference of a circle with centre O.

Angle ADC = 96° ﬁ

Angle BCD = 115° — ¢
D

(a) Work out the size of angle ABC.

(b) Give a reason for your answer to part (a)

0’\3 ?.gs.i.f{& ....... m&\es 'uoﬂ o} Lﬁ(,\?c qvuadkﬁ\ah"d
add. 0 120

(Total for Question 4 is 2 marks)
5 A, B, and C are points on the circumference of a circle with centre O.

AB is the tangent to the circle at point C.
A

(a) Write down the size of angle OCB.

(b) Give a reason for your answer to part (a)

A _tangenk meets o vadive ak 90°

(Total for Question 5 is 2 marks)
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6 A, B, Cand D are points on the circumference of a circle with centre O.

A

Angle DAC = 68°
Angle ADO = 45°

Work out the size of angle ABC.
Give reasons for each stage of your working.

P\ng\b DOC= 136°

‘W\e 0‘“{)\9' OL’C ‘:Me, c,e,v\,’(,(e, \S b\,o\'c,g, Umz,
angle ol the  roumCeence.

Angle ODC = Angle OCD = &%

%GSE, OW\C)\QS IN an \sobcdu Jﬁnanﬁ\e e %\ML

Angle ADL= 3 +4S
- o
#\V\S\c ARC= 180~ 67
= {13
O??osr\'e, QV\&\QS m Q (ﬂ(’\ O c\,ua&n\ahml
add YO 180

|13

(Total for Question 6 is 4 marks)
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7 A, B, Cand D are points on the circumference of a circle with centre O.
EF is the tangent to the circle at point D.

Angle ACD = 84°
Angle CDF =53°

Work out the size of angle ABC.
Give reasons for each stage of your working.

Ana\c DAC = 52°

Alternate Sejmcwb e orem,
Angle ADC = 43° o
An&\c& n o h‘\wd\e. adk o |20

ingle ABC= 180- 472
3 = |?>’+°

OR?osi*b cm\cs\es noQ (,dg\io %ua&ﬁ\ahml
add O 180

123

(Total for Question 7 is 4 marks)

5

www.1stclassmaths.com © 1stclassmaths



http://www.1stclassmaths.com/

I’ y r@ @1stclassmaths

8 A, B, and C are points on the circumference of a circle with centre O.

Angle AOB = 130°

Work out the size of angle ACB.
Give reasons for each stage of your working.

{’\v\g\c APR = 65°
The o.r\é\e. aX the cenlie is bwice the
on & ol e greumCeuence.

#mg\& ARC= 180-65
= (1S
O'Qs?osi’fﬁ, cmg\es m Q (ﬂ(,\"o %ua(\ri\ahm\

QA(L A0 \RO

|15

(Total for Question 8 is 3 marks)
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9 A, B, Cand D are points on the circumference of a circle with centre O.

Angle BAD =79°
BA =BD
Lines AB and DC are parallel.

Work out the size of angle DBC.
Give reasons for each stage of your working.

An le BAD = Angle EDA =F9°
%GSQ, 0%\&5 IN an \sD.)(dLL Jtv\w\a\e« e U‘,\M\L

Pm\t)lc— ARD =11° o
An&\cs n o h’\amd\e. addh o 180
Angle B = Angle ABD
Alternake angles are Qq'uak

Angle ABC= 180~ 41
= 133
O??osr\'t cm&\es N Q (,3(,\ \C %ua&f\\ahml
add o 1230
An\r)le, DRC :=53F°

An&\cs n o k,v‘\amd\e odd o 80

? (Total for Question 9 is 5 marks)
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10 A, B and C are points on the circumference of a circle with centre O.

A\

Angle CBO = 27° B

Work out the size of angle BAC.
Give reasons for each stage of your working.

Qn@\e, CRE = Q0- 4%
= Gf_’,o

Ahﬂgeuk meeks o radiue ok 40°

An\g\e, W = 63
Alternate sey ment tineoram,

(Total for Question 10 is 3 marks)
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11 Cand E are points on the circumference of a circle with centre O.

AB and AD are tangents to the circle at C and E.

Angle EAC = 70°

(a) Work out the size of angle COE.

Ah@\t AED = Ar&\Q, ACO ZC(O"
A“’Gv\geuk meeks o rdius ok 40

Angle COE-= ok *N\&\e

OC=5cm

(b) Work out the length of CA.
Give your answer to 1 decimal place.

Arw\e, CAO = 25°

C
A s°

Cem

0o

9

S 'u\a u.ddﬁ\mm‘“
add o~ 260° V(O
(2)
tan@s)= S
CA
S

CA=_">2 _

Lon (BS\

CA=-2+W03. 3\

)
(Total for Question 11 is 4 marks)

www.1stclassmaths.com © 1stclassmaths

cm


http://www.1stclassmaths.com/

u , r@ @1stclassmaths

12 A and B are points on the circumference of a circle with centre O.

DC and EC are tangents to the circle at A and B.
223:2 BAF - 25° [Rmms not reqm‘ml in this (S_\
Work out the size of angle FBC.
Angle AOR = 126 A‘h\hgeuk meeks o radius ob 40
and w\e\cé h a c‘/ua(\r\'\d’u‘a\. addl to 10’
Anale, ARD = Ahek a0 =22°
Rase OV\C)\&S inan isoscedes ’mung\ﬁ LA %W‘L
P\h&\b APD = 68°
The angle ok the wnkrie is bwice the
onge ot Bne greumCeence.
Angle AFB = Wy °
DQ?osi*% cmg\es m Q (,:\(,\io %ua&ri\ath
add O 180 )
f\no\e, ABF= 43" Pnks in o briangle odd bp \20

\ o= ’ 0
ngle FBC= 1> o o radiue ok 1>

» ‘P( ‘\W‘ﬁv\b m (Total for Question 12 is 4 marks)
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13 A, B and C are points on the circumference of a circle with centre O.

EF is the tangent to the circle at C.
Angle ACE =73°

Angle FAB =5 x Angle CAF
[Reusms not Cequi red in this (5_\

Work out the size of angle AFC.
Angle ACR =Q0° The angle in o semcicele 1s A0
Q0= 6=1S
Angle CAF= 15
Ange ECB=> Q°  Pngle HCB=13
A"’uv\geuk meeks o radius ok 40
Angle APC= 148" Angles in o biomgle s to 130"
Ang\e CPF - 37’ Angles on o steaigh line add b 20

B“Q\e ﬁ‘FC"Sgo Pms\(',s in Q.Eriana\c oAd.bD \20°

S8

(Total for Question 13 is 4 marks)
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14 A, B and C are points on the circumference of a circle with centre O.

DE and FG are tangents to the circle at A and B that intersect at the point P.

Angle APB = 78° - ‘
[Rmsms not (equk red in this (S_\
(a) Work out the size of angle ACB.

Angle #0R= 102" Atungenk meeks o rodius ok 40
and ahd\fa-s \h a cbuxadn‘\akzrak add to 260’
-P\y\s\e, ac = S Anght ok the circumfereae

holf t ongle ok the @ntre, S |
()

(b) Work out the size of angle ABP.
{‘\q,l% ARD = l—\hek 200 =9°
Roge angles inan isosceec Leangle w2 %wa

ﬁno\e_, ARY =90 - 314
=S|

A ‘\’anbwdc meeks & radins ok q0’

(2)
(Total for Question 14 is 4 marks)
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A, B, C and D are points on the circumference of a circle.
ABCD is a trapezium with AB parallel to DC.

AB=AC

[Rmsw\s not reqw\'u& in this (S_\

Work out the size of angle DAC.
You must show all your working.

e +2 + 3 -8 =180°
© Pofw\'e. %(es in oL c.sc\.\b %ua(lﬁ\dkemla
add. ‘o 180°

6 -6 = |80 2(2))+ 2= 145
6= (86 -89S

x= 3l°
Angle ACB= Ange ABL = 25
Angle CAR = \0° Pm\es in 0 briangle odd. b \g0’
Mngle DCA= fAngle CAD  aRernate angles e el

P\n@\e— DhC= FS° An&(es ina tY‘av\ak, add Y180
+S5

(Total for Question 15 is 5 marks)
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16
C
B
_ 0
\q(_\;l\' _ - - 5x—7
N _ -7
A0
x+7) \L c
D
Py -V
%

B and D are points on the circumference of a circle, centre O.

ABC and ADE are tangents to the circle. . ‘
(Rmsw\s not reqw\ml in This (S_\

(@) Work out value of x.
You must show all your working.

fngle BOD = 2(Sx-3) \0x - 1% = \%le -1

: ox -14= Fi-x
C’g.ﬁu, una\(. ok Circum ference) * o= 18%
Angle 20D = 180 - ber ) x= |F

(ongles in quadeilatevol add to ()

AD =30 cm

(b) Work out the radius of the circle.
Give your answer to three significant figures.

B AD= 247 °  tan(1)= Q2
O Ad= \] 30

\w D oD= 0 tan(12)
30 mm

3-1%

(Total for Question 17 is 6 marks)

cm
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